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Passage:

Hapck:— NI TRl gfScd Ui fabedr® d: Jfyaans I e forad|

TG AT TG YJUId: T THauiion TR $i-a: Sd SHE: 91 SRpaummat g iReuRiin Sfgea=ifon 9 Je
T4 0 SR | HRI™ TG ATfaumat gidearmm ftmmt yari sfa ufasmads faeaedy saw 9 ad ufafes yum: |
AR SR HRY F a1 YRaW 3 FSRN™T 397 S 3iRMH: I SREP IBIRGAgH TardidT
FeforraRUTd RafoTFEREE T 7 SR 3 | URWITH dRY Sieie Iqd faed, g sovs g iRk s
Fefagrrdiy Spaqan ta A g IRpa TRAT AT SEmEE Yaf |

HIYT Hafd TR | TepTeil TXpIaH S FRAT HINT | TP fAfeTRAcT: TRIqeerell: T O | HIIBTIaRIGH
RIBTIgAfY: SR add Ipaaed™ W | TXIHANGH YYH, Ia: 3Fd: UNG: T faRTm STt SIeriHY Srnfd
HidaM: dR&: TR |

Q.No: 1 6% UG Yquid: T JHUHui FRY f=<: Sad?
A AT 3fd g

B HTST 3f v

C Gepafifd UG

D fe=difd e

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Tapa:— Sreliferiad et ufdar Uy fadb et Reg: Ifadaas W fawar firadl

TIPAMTA UG 4qurd: U9 TPaUfivn IR Si-a: Sad SHTHE: <1 Spaumy™i Ffgdi= -IReuRIior IifgeuRifon 7 Jem
Td 0 HRUM | HRA SHGR Tyt gfdaard siftmmt warfiy sfa wfasmas faaredy 3o 9 91 wfafes yo: |
Y MR SR b a1 YRART 3fa Rl aaw SiavTgH S81H: I SRATD FRSINSUGHR WdIydi
TR IRl 9 73 SROM 3T | YRARTT e Tb1es Uqeh faera, ag Sas pror ik | A
Fefagradif TRpaHTST TF A I TR TRAT fAaRT S vafd |

YT Hafd GEHRAIG | T UGB 3 YRAfd YN | Wha- fafaRadr: Jidedol: T T8I | U IGrIg i
Feugfaf: SFFET add SRpauIedd T | TRUYN T, Id: 3Fd: UNS: d faRemH Sradid SIErrH Sef
HlagH: dRP: TRNH |

Q.No: 2
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o 0o w r

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Tapa:- Srelfead et ufr uyHT A earemeg: Ifadany I fadr forad|

AP UG Yaurd: Ud Spalfiun B S ST SIf: 91 Hepaqmmal Riga arauriitn afgeuifon 7 Jr
Td 7 HRUM | HRAR SHGR Tyt gfdaamr siftmrt warfiy sfa wfosmeas ey soxa 9 a1 wfafed yo: |

AR SHHHA R {H a1 WRa 3 IRl 997 S 3i6T: U SRATD ARBIRG UGS Ty

TR IRAfaTHIfedmal 9 7 SROM 3 | HRWIFHE A TSRS Tqd f9ed, g Savs AgTon Ak | g7
efagradif SRpaumn ua A S Shasd TRAT AT S vafd |

YT Hafd GEBRAIGH | GeiebTci Yepia S YRAfd YN | W¥ba- fafeRadr: JRidesl: T T | HIbIIGrIgIHi
erepTIgfai: SFEIAT ddid FRpadlied Jq | ThHING UYH, de: 3fid: YW F fIRISHI Prefild Bl S
HidgH: dRS: URNH |

Q.No: 3 I@aw AT i Piexl wafa?

A SR
B Rid
C forameften
D SCEinf

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Hapar:— SfeNferRdd Teii=i ufdedm Uy fadbedrate e Ifadany Iw e foradl

TP U Yquld: U9 TP TR 3 S SHHM: 9| SEpaHINEi Figd- IRAuRIOr g quRifor < JH-
T4 7 SRUY | YR TG ATaemat gideamn st yard gfa nfasmas ey sava 9 a4 ufafes yum: |
eI AR SR F a1 WRaW 3 ot a7 s/ $iRMH: I SRATe TGRS UGHT TaiHdT
RBRHRUIEH ARG 9 7 $ROM 3 | HRERITH AR WIS T e, g Savsi Ao TRk | 39
el SHAUTT TF A A Hpaed TRAT FaRT S vafd |

YT Yafy TR | AT TXpiae S FRAfT U1 | Spa AfRIT: TRIqeas: T TP U IfeRITe T
PTG SRR dci IR T | TRayeaNeH Ty, e 3Fd: TN: T RRISH STardid SIorTg s
HIIGH: TRE: TR |

Q.No: 4 Yfdemer M Yaifil| 3@ Hgud feq?

A HIRAG: |
B TEHaHTHT
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C 3eH
D PHig:
Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Hara:— SNy et ufdar Uy [ et Reg: Ifadaas W fawar firadl

TP USRI YaUrd: U9 SRpadiiun AR Sic: RId SifU: 1 SpaHmEi PR IR Ffgaifor = Jrf
T4 0 SR | HRII TG ATaemat gfidaam st yard sfa ufasmaes faemedy saea 9 ad ufafes §um: |
AR A SR 6 a1 YR 3fa SRt a9y sfavTgH SRM: aq sRHTd IRGTRSGUgH aiydi
FRRERIUTER YRARTFEIREER o o SR 3R | YRRV s Siepie dqd fga, g gavsi Ay i) g
FfaErT TpaHTR Ta A S Spasd RAT QT S vafd |

TS Hafd PRI | BT TP S TRAfT YT | TRpa- fafeRadT: TRideeron: T T | HIIBIferer g =i
TBTIRLATH: ST deld IPAST T | ELFHAN Yy, Tek: 3dh: YNe: F TIRISHM Pl BreariTH Sy
FiIgH: dRD: URAHS |

Q.No: 5 od yfdfe 4up:1 36 &: yanT:?

A HAR T |
B HHIOT T |
C HIQ WRE: |

D SHHBTNT: |

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Hapa:— Srefferfed et ufdr Uy fdb et red: Ifadans W fuwr firadl

TG UG 4qUlc: U9 TP TR 3fc: S SHHH: 91 Spaqyri Rfgar IrRauRifor aifgeroRifr 9 JE
T4 qF HRUM | HRAR SHGr Tt gidaarad sitmrt warfiy sfa ufasmas faemedy sava 9 @ ufafe yom: |
AR SRR SR 6 a1 YRaw 3 ot aar s 3iRM: I SR IRbIRGAgH Taraid
FefeRUIER IR T 0 SR 3T | URRITR A Fiepiies Uqeh faed, ag savsi g k| s
FRRRIE WRPaHT Ta A 30d: Tpaw TRAT Rl SHedmierT vafd |

HIYT Yol TRGRAIMGAT | TR TP S TRATT HIST | Tpa (AT Trideaot: T T | M IGIc T
RIBTIYAT: ST aid AP T | TRAYANGT UyH, Tk 3Fdh: UHe: d ARISHI Pl ST Srelify
HidaH: dRE: YR |

Q.No: 6 Hrelldld BIETRMHH 3 Hidar: dRE: UMHA | 3 TPR: B:?

A fafdfers|
B e
c <l
D qrel

Correct Ans : C
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Subject : Sanskrit Bhasha 02

Passage:

Hara:— Sreliferiad et ufdar Uyl fAberasreg: Ifadany W fudr firadl

TIpAATd UER 4qurd: T Tpaliivl HR Si-a: Sad SHHHE: =1 SRGauEi Ffgdi= IReuRIion ifgeuRifon = [
Td @ HROM | HRAR TG Tyt gfdaars siftmmt yarfiy sfa ufasmas faaredy 3o 9 91 wfafes yo: |
ARG S HRY o a7 YR 3Ry Rramai qaw siavge oigiH: It SRAd TPRGUgHe Ty
BRI ARAfdTNIedG™ 9 7 $RUM 3 | HRAIPH deRl GRalie Uqdh faed, I Saxsl IgTur Ak | a1
FRABRIE Wpauar td Ayar sad: Gspaw TRAT AT SHedmfie vafd |

YT Hafd GEBRAIG | T Apia S YRAfd YN | Wba- fafaRadr: Jideor: T3 T8I | UGG
leugfafi: SFFET add SRpaued™d Td | TUYN T, Id: 3Fd: NS d faRsmH S1ardid SIErnHy S
Hider: dRS: TR |

Q.No: 7 =R T HRU | 3/ faRmome fae?

A SHfHA |
B PRI

c GlEeE

D c(

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

T~ Sreliferfad et ufdedr Uyl fasedietdeg: Sfadany I fadr foradl

TP AAld ISR 4qurd: g GHaliil TR Sf-a: Srad SHNHF: =1 S auyEt Ffgdi= euRiior difigeu=iior = [
T4 0 HRUM | HRAR GG TGt gfdeamd st waifiy sfa ufosmas ey saxa 9 94 wfafe yom: |
TR AT SR S a1 YRa 3 Sl 399 SfavTH $6: I SRHTS IRSIRGUgH iy
FATBARIUME IRATHIGQTGI d T HROM 3 | HRAIPR e Fp1Re Uqe e, ag Savs qTor A | SA
BTG WpauTYaT Ud i Sad: Tpasd TRAT FaR] SHedmiieT vafd |

YT Hafd IBRATEAI | dAbTciH Sepiad S GRAfd YT | ¥ha- fafaRadr: Jrdeor: a& e8| HRIbIGrIg i
TrrToRgfafly: SERIAT ada SpaTeaRT T | Ty UuH, ad: 3Md: UNe: I fRoHE Srardid Sy srenfd
Hidar: dReb: TR |

Q.No: 8 f& a7 sd ugwd g farn foraa

A YT
B i
C YgeH|

D afafeT

Correct Ans : D
Subject : Sanskrit Bhasha 02
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Passage:

Heopc:— sreNferRad Uerii uider weHi s earatd arve: SRiqaay S e fadl

HIGIEve: YRRIARAIHN: |

FAE FHidl TR SIS |

Q.No: 9 M HY HE?

A farsiayq

B Jawda
¢ EEI2EICE
D FruiaeH

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hapc:— SfefferRad ==l ufdedr Uy fabeurarhr: Sfadany I & forad |

HIIIIERE: YRRIARAR: |

e Hxicd] A SIS |

Q.No: 10 'So=re 3 Ik 4fET -

A 0T AR
B q@: GIRF
o &d: 9
D e |

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hapak:— fefeiRdd U=l Ufdedn Uy fadeurardRd: Sfraany I frar foad |

A ggsIeve: JRRIEARARIH: |

e FHeicdl I g-aaiS=aYT! |

Q.No: 11 &: SAH: HuA:?

A STATATTT:
B o

C S{evE:

D ik

Correct Ans : A
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Subject : Sanskrit Bhasha 02

Passage:

Tapa:— SfeNferRad ==l ufdedr Uy fawerarsa: Sfiqaay Iw e foad|

HIGIEE: YRR |
TR Feicl AT TS| |

Q.No: 12 Hasgqy' farequeH Sff& 2

A
B
C
D

Wy
KiC]

EEk!
Lk

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Topa:— SreNfaad ==l ufder Uyl fAeeararese: Sfraaay I el foad|

T PRRERARA

g BHricdl AR g-aaiS=aUT| |

Q.No: 13 "3RI 3 & faufa: & 2

A
B
C
D

e
I

eftam
L

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Haa:— Srelferfed werst ufdar Uy fadmedrareored: Ifaaany S fuar fomad|

I GERe: JRRIARR:|

I DHicdl ATITHI B=IdISTATI |

Q.No: 14 3 xA® & B<:?
SITCH

A
B
C
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D EEiCiAl

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Haba:— Srelifeiad gl uidr Uy fadbearariored: Ifiaany S T forad|

TIGTIERe: YRR |

FANE FHi] I SIS |

Q.No: 15 '&iar: 3fd Ue &: Udg: Sifd -

A SR
B |
C 5%
D T

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 16 & @ o -

A 3 3f=m:
B = 9
C K Re
D 3 91

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 17 SY-Udr Ug I =

A sftercit
B FafdEAt
C s

D Egill

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 18 TUl' YW JHI: ThadH fdh &uq?

A Tut
B Tt
c g
D ufey

Correct Ans : B

Subject : Sanskrit Bhasha 02
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Q.No: 19 %' 3fd U Heiles: &:?

A T
B X
c ks
D 3

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 20 'gff¥a:' 3 Ug &: U2

A E5)
B =
c aq
D &dq

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 21 '$Raray’ 3fd Uaw &: Wi-fawye: Jgfad:?

A SRM+TH

B R+ S
C S+ SR
D S+ AT

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 22 1Y U-H S TRl UINET: I Y 31, gaifg 11T wen: iy 3ife: ofg: vafd|
B WeRisarr:, sfem

C GV, e

D TG, TGO

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 23 JoIHGAN: AP &: 7 g ?

A P iaarguin

B THHTITRIION GG
C SSHUYIT

D fomauim

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 24 THIRG-glararr: Risr: dyafd aq -

= AD— —Ot ——)
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A
B
C
D

qle: A9 aYIdg KUKl

TS AP HiagH srfa
FiiGH g T TIUI-URRS d W
IS SremaTERT §fS: Ry T

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 25 B[H: W-geu™ fdaRM S WVl IeAddl Ueberdg wh: Hafd?

A
B
C
D

UFiTg-HTSaT
TSTHTYET
ARG~ HTST
HIGHTST

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 26 U Riférp1 Hemai yaurrafRrTafafe SRAG Med Haadt | a1 T=Ream Tfafadi=m demt HAM | Higa ey

A
B
C
D

gegT B i e aut < o=l 9 adafa | A wgaw: 9 ---
YIURHASIG194d: (While listening activities)
YIUIRTTAae™: (Post-listening activities)

YU EG: (Follow-up of listening activities)
W@Tﬁfﬁm: (pre-listening activities)

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 27 Wi faenaaw serad fGenfi: squ-arme e faemamrd Fafafedusiay @1 a1 vgfa: Sugea vafa?

A
B
C
D

HfT: TUT Fraiare-H (News reading)

SIRT: qUT HaTle: (Interaction)

FHUT-HGU} TUT Yelaa-Hq (Dictation)

BIIUTS: TUT HTSTIARTRITCT (Language laboratory)

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 28 3{eRA"Y HT Jfat: FHidAT o1 2

A
B
C
D

fRmfe aremriad aRw FdiwT |
JrRfa MR Sisf gE: A

e Gredigs) faRmiRgHT e yaf |

TR GETHY FRMRIGT UaTs sTu Sdoredf |

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 29 T3 f@aleH 3 URUIMSRT Hafd

A
B

EICEaNRERR |
AU IRTTaE

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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C

D

R S EE AN G ECR]
PADIRATE

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 30 TEHRw TEllgRay S

A
B
Cc
D

BET: T TS ufdg TR ey
ftTaT: SiIg: o B faaed 6 & wsfxr
TISTUIST P SRt F:

U3 BER-ady

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 31 JH® TR R T [H9 TSR $T Had T0< Hd § ?

A
B
C
D

o RS 8

St el T | -3+ | IS o
S gEra A8l

i P e @ F

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 32 diebviid &Y N1 P el § i faar s =gy, 4ife

A
B
C

D

Tl Y SGTaT 311 HIWI-fRIef0r b7 G ST &
Tl MY S Fdl o

Fad detidl  AIEH | URARS Gl B1 Riem & o gbdt §
TR 7 T Rl & AR 8 2

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 33 Iy=RIHS e & fore Fafaf@a § 3 o9-a1 w1 78 fear S =nfige?

A
B
C
D

el Ud AT Hedich

RIS TR TR =1 & T&T & B o1 W I3 AT H&T H Uiad $A F b1
IR WA Bl # g fawa o SaT-3ierT Ybri & w4 H UgHn
Tefie Herst § fawm favg t ¥gw fava & w0 & ugrn

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 34 = # q YIS &1 Uleywis H T UIs 3@ oY ot

A
B
Cc

D

T & URIM Y TS T
ol B TGS §
ol & U ¥ 98 7l
3fd B B

Correct Ans : C

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Subject : Hindi Bhasha 01

Q.No: 35 fam § 4 fgdlg wwr-Rreor &) (Al SF-0 g2

A 3rare fafy
B w15y fafy

C Sdepa fafdy
D o fafy

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 36 4 & | BINAHS I T 82

A -7 & IR LS Hidar IS AT
B $ad T & IR LS HiAal U6 BTl
C FId G P STIAR Y& Hidal U6 ST
D Tegfa &1 fdaR wga &1

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 37 SIa®! &I 39 A g1 ¢ 6 3 79 9 9 R &1 yell-Hifa Whe 9%, 98 = & 9 fou e vefa & g

glarg ?
A IqreTeH fafd gr
B Seded Ul gRI
C TRrem wAfaRH R
D SR UG R

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 38 A # | Fe&m ¥ AT F & Fald ST fhaT IS o Dl § ?

A Paa fafi=T SaRl o @il o1 sy

B $qd STAD! Bl SEATIT BT JIT BT

C Had STAD] B &R NY HREAT

D SRIDI BI &R Sy AT, fAH=T 31&RT 1 @l il &1 <Y Ud STl Bl gardid bl JH S

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 39 Fufifad & § eiF-u 9ifde Yia-UeIH e o1 322 el 82

A g 7 TG Qe BT TER SR RaET

B BHEI B Y& FERY, I R, Sfrd 1id & Iy s Rgen
C BEl I FTHE THR U [FOR 1 FA & A T

D 3f B} TR B THEA BT HE@YYl AP &

Correct Ans : D

Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/60
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Q.No: 40 Fofifad # q H1=-T Ay w1 Rieror 1 e =77 82

A
B
C
D

T fafdy
e Yy fafy
ICERCEIRCID]
g7 fafy

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 41 3 g (Y gRI

A
B
C
D

IR g F19-HIG RRar S &1

& T YU TG a1 Wea! B U Ty R S 71
SN HRAT @ o B

T Ryaman S g1

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 42 &g ue § 2udiyeg IH g7

A
B
C
D

TRES
3fofta
Sttt
ufafe

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 43 =fpaifia s=if &1y e gaa?

A
B
C
D

P TS} aTell Uied-gie @1 fAafor faar s ik

Y-~ 31 TG UTST BT TN H=AT AT

Is Bl § ST BT IR a1 S W fady e foan o w9 |
I faftra uifes fefafirelt & =nfirer =1t o)

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 44 f&dl HeT Fal H Herl-HUT B Maedl & JeH § HH-I1 db Ifad e 872

A
B
C
D

Tt T BT &MAT-SHTIR BeuT-SifeT P ISR Bl 31
&l Bl Wea-HUSR F b & SR W gl 1

it 9= Y & B ea e gU e Shud e g
it S Y ST AR BT Uik e 1

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

&= A AU U e A ugdh U T URAl & Fed 3fRd Iaik d1al [ddmed #1 g Sifoe-

T &1 dle! 3 TR araraRvl B AeEiyRA Jid §, TR YI9aAf SSaSHl ¢ 39 T § % UgTs & ¥y-uy R opft off o1
TH-CH HIP AU H WG 38T ¢| AP T HT U9 Siadl g1 HIGaHl feiedal g1 S el § fo ufaur off foewr sioit afdar

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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TR § (Ta@! 98 I8 TgI! 4 FRIHR AR IHT A1) | Teil 61 34 THHR G & [0 Heall 8, T HIGaAl B1 Hal o=
Fgl ? I8 ok R FRac gaadl g, R yHH A ol g

Uodd 4 &1 o7 HEoGaH HIaR I ARTEgRA S X8 ¢ | WTaaH! &1 TeIafirqrd &1 Hufar s Siar o1 Higadf
AR GaU 1 Bls g B Yaell YTl e AR {dgdl & (U 98 ISF[E & T T FHI-d UTl Ued 16l o 3 R Aggadd A €g
o1f TR R fordm 1| I " HETHR' Bl Rt 9 37 & U HeEirgza o1 Fmfor sRamn =gl 98 S 39 YiaaHt S giar
AT| XTSI A HTGGH ¥ FBT UT— “FH TR YA TR TeTHRA 91 off a6 a I8 ofd ad YA g1 e B1 s 7 1, =g &1 fofar 4d
B, PTH W G 17 IS 3 S H T $ AU 3nar AR UfauT e SABR U &1 A1 JIR | I yaadt o
it T a1 & e o1, WR 98 S 4 R T, Rifd 98 Tel dredr o1 i 3U& Siid-of HeR fFlt iR Sa@R By
B | HIaqHT A HiEgR & T URie HiGR I9IE A1 98 U HeaT SIR Hell & e IR o o1 8, W 3o R & forg
e i 7| 98 SSiQ Tl HIGaHl WHIEST U7, WR 98 Wl 7 U7l 98 Hell-URd o, W W HaldR 7 oIl

TEa GA-[GaRA & 918 S99 1 SR uferdT &t g ot | 9 onft Aieae A1 ool ufadn e AT ve geh oiR afa
v fe-3rd Hffal g Tean S 7 @M @t Ridr 6, 7 99 # 3 THgads o # @ gU 1 39 @8 diF af i T
Tferal & 38 o, W ol B H BIS B T U1 HaaHT a8 $© T8 X6 AT I AT ARA H HEIHRA B Plg W Aol J

i

Q.No: 45 IUYF TR & HTHR, 1 HETSITYRH T FHTd G ST ol
A HrgaAf

B HegaH

C Fsar

D TR

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

ETn: Y AU U TR 9 Ted] g T U=l & ad Sied Sak did [9@ed BT 98 Hiford-

A $1 dicl & THIgR arararol ¥ FEEIaYRd Xid 8, TR HIGaAf JSaSldl ¢! S Tl § (& Ugle & ¥Y-UY W 3t ot o1
TH-TH B SAUAT AT Qe g7 51 3P T B UTY dietal ¢ | Higad| freardr 81 ¥ avdol € & ufaur off faera st gfdat
138 T (T 98 I YISl ¥ PRI AR FbT AT | Uelt 31 I THeea? 9 F U Sl §, W Hiaqaf o Jar 3=

Hgl ? 98 fIaR W A deadl g, B YHH Al Sirel g

Toeld 41 &1 o7 Heoadn SR § HRlafiqRe 3 X8 ¢ | Haad! &1 Teiaferqry &1 Aafar Susm Sirar 411 Higadf
TRGaH B By g2 BT Jaeht AT| Sl SR fagdl & R 98 IoR[E & w0 & TG oT| Uedd ol oF 3 TR TRsard | fgg
o YU R ol ATl I HITHRA' Pl R/ FU & & [T WRIEfigzd &1 Falur a1 amgl| 98 14 I8 1l &1 dar
UT| XTSI A HTGdH | ¥ Hgl Y— “gH TR YA TR HeTHRA & off 99 a® 38 o db YA g1 & &t s T B3I, g &) fofar dd
B, HTH W T o1 e A SE & T $ AU 3 3R UfduT TS $ABR U $T A1 G| T yraadt ot
BT BT =1 & fre o1, R 98 31 ¥ R T, Fifh a8 el drgdT AT fh 3@ Sfia-off HeR farddt SR SeaaR & U=l
Y| YadH] A HiEgR & T RIS AR 99T A1 98 3T HeaT IR Hem & fare ufig o o1 8, W o | & g
&AW 2t 47| 98 Sl oT| HIgaH! WeTgser U7, R 98 Wl 7 U1l 98 Hall-IRP U1, W W4 HATBR Il

Tgd ra--[aaRA & 916 39 311 3R URTHT ST gera il 3 ot Aieiad A1 ool gfdun i AT-AT 49 g9l SR Ui
3y fe-1d ffar Tear gl 9% A @A &1 [Kiar A, 79 $1 § THIaYde S H @@ §U Y| 39 IR dF a9 &l Tl
Tt o1 381 &, W onft S & IS HH 7 U1 YITaH I $© ol IgT YTl SUD F TRTSh H HETHRA BI Bls W Frorl 9

il

Q.No: 46 IWYa T & STAR, HIaaHi 3 & SRTd URTg Al ST A1
A THRTR

B WIERTR

C SHTRBIGR

D PR

Correct Ans : D

Subject : Hindi Bhasha 01
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Passage:

A= R fou U TR F g IR U URAl & Ty Sfd Saik a1d [Admed $1 997 Hifo-

UAH &1 dia P HHlg drdrarvl H HETEIIYRH Xid 8, W HIGaH Joasidl g1 38 Tl § fb 8T & -0 W oift off B
TH-CH HIP ATT T Wi BT 31 ITP A BT UM Sal ¢ Hidad! freamar g1 S8 wmdol § b ufaun o fysra s wiffat
TR T (S9! 98 32 UeTel ¥ FRIEHR AR g1 A1) | Uelt [T I JHER U & o Fgdt 8, W Uiganf &) yar o=

Fgl ? I8 fOR IR HRAC IGadl §, R YHdR Al ol 5

Yoerd IR T ST HESaH PR U HETEIQRA 3 I §1 HIGaH! bl HRIiTqRH 1 Fafar Gs S o1l wiggdf
TUEGaHA Pl Blg g2 P1 Jaeht AT Herl SR fagal F R 98 IoR[E & w0 & A oT| Uedd o0l oF 4 R Hsadd A g
o] T80T R for ATl I " HETHRA’ HI WA FU 1 & T TgEfaqRd &1 ufor Samn 91| 98 & 399 Hiaadi &1 arar
ATI ST A HIGqd § HT UI— “gH TR YA R HEIURT 331 off a9 d I8 ofd adb YH §1 eF &t fissh 7 o1, =g 31 fefar wa
TR, BT TR @ S I H H TR F fw spar 4R ufaun T SaraR <ufRt &1 91 g g2l yraqnt o
Bifct 1 a1 & el o1, W 98 $1 § WR 741, i 98 181 argdm o b I S-St HgRIS bl R BedR Pi u=iEl
B | HIGGHT A HIEGR S T URIg FfeR 91T A1 98 3T BT 3R Han & o Ui o o1 8, IR 3 it & forg
& i U711 98 SXfQ oT| HIGanl WHEWT 4T, WR a8 Wl 7 U711 98 Hell-IRd A, W W4 HADR 7 oIl

Tgd Qra--faaRA & 915 G 1R 3R U & Tgrar atl 3 onft Fistar A1 gelt ufqur i Au-T yie g ok g
3y f&-1d Fferar Tedl @l 3% A @H & [Kidl A, 799 B § THIgagde S H @@ gU A1 39 e i a9 §id Tl
Hicrar & 381 off, W 3t B H DS HH 7 Ul WIgGHT WY S ol 6T U1l SHD H HKISh H HGIHRT Bl bIg W Aol 7
il

Q.No: 47 Iuad T & g § quid T Hu= BT 99 BIf-

A UIGqH a1 PIs gX BT Gaelt ATl FaT AR [gar & L 98 Io7E & T4 & g ATl Ueed 67 oF § N
Tegan 7 g o 750 IR R Al

5 Yiaqaf HegaH B IS g $T Gadt Tl Far AR fgar & fore 7t ST S 41| Ued ol 9 3 W HegaHw 3
g ot rgur o= formm i

#0

C HIaqH! AR A BT B g BT waeh U7l S iR g & RT 98 IoE F w9 § FEiG ol T e o 4 )
HogaH 1 fdg 4 T80T & femm i

HIGGHT ARSaH BT D15 R B ot ATl Ha IR figar & g 98 IOR[E & T4 § FrAIAa ATl ead ol oF &
R AREGHA 1 &g o wgu R fom ami

Correct Ans : D
Subject : Hindi Bhasha 01

D

Passage:

fAdRr: - AU U e &1 ugdh Up T U=l & Fed 3fd Iaik d1dl [dded &1 99 Hifo-

UAH B die-1T & THlex ardrarvr  HgTafrgR XMid 8, W HIgad Jsasidr 81 SU Tl § fo Ugie & 4-uy WX onft off 1
TH-CP TP AUAT 19 TIG 381 g1 IUP T $I UM Sieidl g | Yiaqdf fRIeermal 81 38 adel § & ufaur o faem sot gfcfar
T € (T 98 3% UgTal U FRIGR AR THT A1) | Tel! YT I JHSEHR WH & 1T Hgell 8, W HIGqH] &1 yal 9

Hgl ? I8 [ IR HRAc 950l §, e UHHR Al ofrl g

Ued 41 BT Il Hgosai HidigR U HETaerged o 3@ 3| HIaaH! &1 HeTaiigRe &1 Fufar wsi Sirar o1l yiaaw
AR GaU 1 Bls g B Yaell YTl e AR dgdr & (U 98 ISR & T H FHI-d U1l Ued 16l o 3 R Aggadd A €
o1f TR HR fordm 1| I " HETHR' Bl Rl Y 37 & [N Heefrgza o1 Fwior samn =gl 98 $1 39 YiaaHt S giar
AT| IS A HIGqd & BT UI— “gH TR YA R TEIURA 341 Sl a9 d@ g od db YA 81 ¢ ST fibh 7 B, g I fofar a4
FRA, B R SN AT A ST T TG & g enarg iR ufadr AmE SaeRr SuRy &1 19 gl agfy yigadf o
Dt 1 7o & e o1, R 98 3 F R T, Fife 98 K argdr o i 9@ Sfid-sit HeR fhelt iR SR &y
B | HaqHT A HiEgR & T R 1R 91T A1 98 SO Hear SR Hell & g Ul O o1 81, W 3o e & forg
& ot o7| 98 S| o11 HIgaHf gt U1, R 98 Wl 7 7| 98 HaAl-IR$ U1, W W HABR A ATl

TEa AA-[aRA & 918 I97 1 SR HferdT &t e ot | 9 onft Aieae A1 ool ufadn e Au-T ve geh oiR afa
3 fe-d TfaT Tear gl 9= A @A 3 e f, 7 9 Bt § THgagde W A @@ gU 3| 39 @Re o 99 did Tl
Hferal 57 381 o, W anll M & IS B 7 U1l HIGH! Y $© o Y61 U1 I HT ARID T HeIHRA Bl PIg W ol 9
il

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 14/60
Page - 14



Q.No: 48 JUYeH TNV & ITHR HEGaH S I BT M UT?

A RESEGE
B o a1
C & G
D el a1

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

= A fau U TR S ugaR U U URAl & 9ed SHd SR drd [dded T 99 Hifie-

A & die- P THIex dIdIarvl B AeTaflgR XMid ¢, W UI9ad J89sidl 31 39 THdl ¢ fb Ugls & -y W ot off oI
TH-CP IS ATHT A I QT ¥ I°D T &I U st g1 Wit frearar 31 39 ol § i ufaur s faera st gffat
TR § (T90! 98 I< UIS! I FRIHR AR THT A1) | Uit 61 I THHR G & U Fgcll §, TR HIGaAl &1 Wl o

gl ? 98 foRR W FRa¢ 95l 3, B yFHa 1 &I

Uedld X1 BT ol AGSEaH HIaIgR o HETEfqRH 3T I8 g1 HIGd( &1 HgIafergRd &1 fufar augm smar o1l ydawt
HeGdi- & Blg gX & Yaell ATl o 3R [dga & U 98 IF[E & FU § T 91l Uead A6l o 3 R Tggard 1 &g
o TR0 R forT oT| I HRTHRA Bl RiRf ¥4 A & g weefigzd &1 Ao sRar 3Tl a8 $19 39 yaadt S aiar
7| IS F HIGTA | FeT UT— “TH TR YA TR HETHRA 391 S a9 d I8 ofd b ¥ 81 & 31 fbep 7 o1, =g 31 f&far 7a
B, B TR TSNS ST A B T G & [T 1T SR UfdHT TS SAeR Sud ST 19 g | G yiaadi o
DI B1 =7ar & firan o1, W 98 $f ¥ R 741, HFifd a8 781 9rgar o7 fb I9@ Siid-Sft TR foddt 3R HaaR & g
B UiFaf A SR S S URIS TR ST A1 98 S0 Hedl SR Parl & fo1g uRig o U1 8, R A M F g
&A™ 1t U7| 98 $9q o1| HIgaHf Wegter U1, R 98 ¥l 7 A1l 98 ARG U1, W W HAGR A A1l

Tgd Ira-[9aRA & 918 397 1 3R U HT @1 Jgrdn ot | 3 st Fioar A1 geht fadn e TU-AT yra g ofR afd
R -3 wfdat wean gan I T @M & fifar A, T 9" #9113 TS F1 § @@ gU A1 39 R oF @y s Ul
Hferal & 381 of, W el B A BIS A T U1l HiddHT Y $© ol Yo7 A1 IdD AT AT H HeIHRA Bl Pbls W TIorl 7
il

Q.No: 49 F=fafad # F SIH-91 s IU™HT BT YGFT R ST 17 82

A LS
B UECGl
C ELICH
D TR

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

fAgRn: 7 AU U TR F g U U URAl & IaY Sfd Sk a1 [d@ed &1 999 Hifo-

A $1 digel & THIgR aIdrarol ¥ HEEfqRd Xid 8, TR HIgad! deaeldl g1 39 Adl § o UgIe & ¥U-UY R 3t ot 18
TH-CPH TP AGAT A1 TN 38T g1 IUP T BT UM Sialdl g | Hiaadf freemar g1 3 avdol § & ufaur s fawm siot gffar
138 € (Ta! 98 3= UgIEl ¥ PRI AR o1 o) | Uelt ¥ar I Trene? 99 F U wedl ¥, R Hiaqwf ol Jar 3=

Fgl ? 98 fIR R IRaC deadl g, Y YHdH It Al g1

Toerd 41 1 ST HEoGaHT DGR J HETEIURA 3 I8 § | HIaqH P HeIYRH BT FHHidl GH STl 41l HigaHt
TRSaHA BT Bls g2 BI Jaeht ATl Herl SR fagdl & R 98 IoA[E & ¥ & T oT| Uedd el oF 4 TR Aggar A g
o g0 R forl ATl I HRTHRA Bl R ¥U &H & [T HRIefigyd &1 Fuior S Jmgll a8 11 I8 Yl &1 |1
AT| ST A UIGqd | & gl UI— “gH TR YH R HIURA &1 Sl a9 do I8 o dd YH 81 ¢ 3t fissh 7 11, o0 &1 fefar A
HA, HTH W T {17 IS A HH & A F U 31 R UfauT TS SR Ui HT ATH G| T Hraadt &
Hifel T a1 & e AT, W 98 S § WR T4, Fip I8 Tol et A fo & Sfid-oit RIS bl 3R SABR $I U=
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B | HIaH] A HiEgR P T Ui 1R 91T A1 98 U HeaT SIR Hell & g UG O T 81, TR U | & g
& ot o7| a8 $8afq oT1 Higanf WEEteT U1, R 98 WAl 7 U7l 98 ARG U1, W W6 FAGR 7 U1l

Tga TeA-[TaRA & 916 I 1 SR Uiy &t e ot 9 onft Aioae A1 gelt ufd Fa Au-au Wia g $iR ufa
N -1 Tfcfal Tt gan S @H @t ffar R, 7 99 $t  FAargde S § ol gU A1 39 @Re OF 99 ot T
Hfral &7 38 o, W et M IS HH T U1l UiaaH WY $© T8 6T U1l IFP H AR T HeIHRA Bl Pls W Trorl T
il

Q.No: 50 fAAfafad # ¥ Wa 91eg HT T9 HIfoE-

A 9% aE T 3R UMW HI e S|

B 351 A Iga IRy e farg Twerar 161 frelt
C gfe; ufve FRI o Shtof & it

D FHT 7 Hior

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

A= A AU U e 31 ugadh U U U=l & Fed 3fHd Iaik didl [dded Bl 99 Hifo-

UAH B die- & THlex drdiarvr  HeTaforgR XMid §, W HIgad JSasidr ol SY Tl § fa Ugie & u-ud WX opft off o1
TH-TH B ATAT AT TIE g7 71 SUP T BT Y Sieral ¢ | Uidad| Feardr g1 39 ol § 6 ufaur off e st gffar
138 § (V99! 98 I< UgTe! § PRI AR IobT UT) | Teht 31 I THHR I & U Hedl 8, T Hiaaal Bl Hall =

Hgl ? a8 faOR W IRac geadl g, TR YHdH a1 o1l g

Uedld 491 BT ST HEORaH HIagR I HRTEfigRA o X8 &1 Wiaadt & Hereferqre &1 fufar s srar o1l Higaaf
AR GaU 1 Bls g B Yaell YTl e AR {dgdl & (U 98 ISA[F & T H FHI-d U1l Ueed 16l o 3 R Aggadd A g
oTf TR0 R fordm 1| I " HETHR' Bl R Y &1 & U HEEfigRA &1 Fwfor examn 9l 98 1 397 Yiaadt &1 giar
AT| XTSI A HTGqH ¥ FET UT— “gH TR YA TR HeTHRA I off a6 ab 38 ofd dd Y g1 & &1 theh 7 1, g &1 fofar 4d
B, P W T A1 I 3 S H AT $ (A8 30 AR UfauT TS SAHR Ui &1 A1 G| T yaadf o
FIfd 1 a1 &F firem U1, W 98 Wi § WR 71, Fife 98 781 Iedl U1 {6 I9P oiid-off Her™ Pl iR FaeR o Ui
B | WG] J HiEgR P S RIS HiGX IAIT A1 98 U Heam SR Hell & g IR O o1 81, W 3o e & forg
e i 47| 98 S ATl HTGaAT WWEIEET U1 , TR a8 el 7 7| 98 Hell-Rd U, R W HADR 7 A1l

Tga GeA-[GaRA & 918 397 1T SIR Ui &t ggradr ol 9 oift Aieae A1 ool ufaut i AT We geh oiR afa
3 fe-1d it Tear dr 9% A WM & f{Kiar A, 7 99 $Y § aHgagds W H @@ §U A1 39 @Re o 99 did Tl
Hfcrar & 381 off, W 3t B H DIS HH A U1 HIgGHT T B el 6T UT| SHb H HRIh H HGIHR Bl bIg W Aol
il

Q.No: 51 Fw=fifad # ¥ frg ared & AemyEyarads Sd-1 o1 W st m 82

A T i1 S|
B 3T HISH BRI
C g HeH g
D i |

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

&= R fou U T $ ugd IR U U=l & TN Sfe Sk a1d fadmed &1 99 Sifon-

UAH B die- & THIeR drdrarvl H AgTafelgR XMid €, W UIgad Jeasidl 31 39 Tl § fis Ugle & U-uy W 3ft off o1
TH-TH B AU A1 WIS g7 81 SUP T BT UTY Seral §1 Higad| feiearar 81 39 avdor § & ufaur off em st gfdat
T3 T (T 98 I UgISt § PRI AR a7 o) | Ueh ¥ar 3§ THene? 9 F fu Sl §, W Hiaasf o Jar 3=

Hgi ? I8 foRaR W HRAC 939l &, R Y A Ifell 31
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Uoerd a1 BT XISl HEoGaH HiaiqR o HRIEIgRE o I8 ¢ | WdaHi $1 Helaferqry 1 ffar S Sirar o411 Higadf
TRSar 31 Bls gX o1 Gadt ATl Har 3R g & U a8 IoE & ©U & gmid o1l Uedd 3ol oF § IR Hegard A &g
e IR0 R forT Tl IR HeTHRE Bl RiRft ¥4 &H & g wetefiqRa &1 Fafor aRar 9retl a8 1 399 yiaadf & |
7| ST A HIGTa § H8T UI— “gH TR YA TR H81IHRAT 31 S a9 d@ I8 o dd HH B1 e 3t fissh 7 11, =g 1 fefar A
B, PTH W A o317 ST A HE E T $ U 31 SR UfduT TS SaOeR Ui $T A8 G| T yraadf o
DIt BT =7 & e o1, W 98 $81 ¥ 4R T, b a8 ol dredl AT fb I Siid-Sff TR fddl SR SeadR & =il
Y| YaH] A HiEgR & T TR AR 99T A1 98 AU HeaT SIR wal & farg Ul o o1 8, W o e & ferg
e i U711 98 SWiQ YTl HIGaH( WEEwST 4T, WR a8 Wl A U711 98 Hall-URd U, R Wd HADR A oIl

§gd GaA-[daRA & 91 I S SR UfayT &1 gerdl o 9 ol Fiear 91 gel ufad e Au--g wia gandt $iR ufd
3y feH-1d Fffdr Teal gl 9% 7 @A &1 [Kiar A, 79 $1 § THgdgde S H @@ gU A1 39 IR dF 99 & Tl
Tt 59 38 ff, W ol B A HF HH 7 U1l Wigad WE $© TN T AT ITP 7 ARKTSH T AGTHRA B HIS W Froi 7
il

Q.No: 52 f=fafed & & forw wsg &1 Wi Iufaa ey & =&Y fosam e g2

A gof
B Caathi)
C TR
D Hia=T

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

AT S B UgaR IR U U=l & a9 Id SR ad faded o1 99 Bifo-
&1 TR I YT Bl o U TR &l - 1
3! T S e, fawfed, foia wa & - 2
0 fGaw a& gy Hima Tgufa Rig) 5w - 3

96 Ued @ ©a 3T P WR-TR - 4

Ik # O T TG Hi Io1 6l AR 4 - 5

I3t R Yeh UREY BT SN IA S W - 6
Riy 38 eR =g-201fe BT 31 AR WO H - 7
TROT G SRl T80T Bt oY T S 7 - 8

T4 g@l o TR H & a9t g < fam a5 - 9
Hieraem Yqed I H1 forad wfed fas &1 - 10

Q.No: 53 Iudad UfTdl & HuH IR BT U1g (e & § o 82

A S B it T | =gl

B fara Y it & @rT =R

C famwar ot & e oo o 21 S =few
D &7 IfGRTRIIER Y T et B

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:
SR FIA BT Tgh T T YA & T ITAd Sk ardl [ddhed HI 99 BHiford-
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&1 QM I Yo I e U1 TR §l - 1
3! 71 S e, fawfed, foid wa & - 2
{7 feaw & gy A Ygufa Riy fer - 3

93 Ugd @ ©a T P WR-TR - 4

IR H o T G Wi I&T Tl IR & - 5

I3t MR e UREY BT SMIA S WY - 6
Riy 35 R 7fR-1fe e s PRI ROT A - 7
TROT S ST T80T Bt S g S H - 8

T g 1 IR H g St § i fama &t - 9
Tfaa Ay I &1 o wfed faerg &1 - 10

Q.No: 54 Iugad dfddl & R SR A TR0 &1 Hd [FaR A & § g2

A &HT BT YSITT T BT B

B & SfGRTRITel oY =T TET &t B

C forroran €t Faa o Sfiae &1 IR T §

D TT-TaTa & gl i Tg1 FHSAT S Ghal|

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

T S & UgaR U9 U U=AT & a9 3fd Sok i fdeed & 99 Sifod-
&1 MY I YSiT I ford u IRa &1 - 1
IT@! 1 Sl gagH, fawfed, foiid Wwa & - 2
& fGaw & gy A Tgufa Rig fHR - 3

§3 Ugd I8 B T P WR-UR - 4

IR Td TP A1 ot ST Tl IrR & - 5

I3 3R P UREY B AN IAF WY - 6
Riy A7 R Afe-1fe FHear off AT RO & - 7
TR Yol Gl T80T Dl 987 Jg & H - 8

T4 YS! O TR H ¢ 99t ¢ < fam - 9
Hferaem s I &1 forad wfdd fasmr &1 - 10

Q.No: 55 Iudad Ufddl & 5,6,7 TR H 1 H § by Wid 3 sifireafdd g3 g ?

A I & GEY B
B TIAM & WO B
C g safwt B
D g B

Correct Ans : A

Subject : Hindi Bhasha 01
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Passage:

A Y B UgH UP T U & Tad IRd I<R I fAwed &1 T PIfo-
&7 TNU I Yo BT ORI U1y TRA 71 - 1
3! T i e, fawfed, foid Wwa & - 2
T feaw q@ gy AT Yguf Rig R - 3

98 Ugd g Ba S & WR-TR - 4

IR T OF U G 2t Sol T IR A - 5

I3t MR Ueh UREY BT SMIA P WY - 6
Riy T8 oR =fe-A1g Har o1 fRT WU & - 7
TROT S SRl T80T i &1 g §e 7 - 8

T4 YS! a1 ¥R H & It § i fam # - 9
Tferaem Wged I &1 forad wfed fasr &1 - 10

Q.No: 56 ST Ui & FER, faa i it Fer & I fopat farg St @ 2

A WH

B TH

C P
D F&ga i

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

&R PToa B UgHR TP ¢ U & Jod Ifad IR a1t fasbed Bl T9 Hifo-
&1 MUt I Yo DI oIS U1 TRA 81 - 1
ITD! 41 Sl G, fawRfed, f&sid Wa 8 - 2
i oW a% Uy T Tgaid Ry i - 3

¥ Ued @ B ST H WR-TR - 4

Ik H & T G 1 IaT Tel qrR q - 5

31 SR 4P UREY BT M IAF WY - 6
Riy 348 R =fe-2N1fe Her a1 iR RUTH - 7
TROT G SRl T80T i ST g S & - 8
WRIdRAT TR e {fafama ot - 9
e dysa I &1 ford wfed g &1 - 10

Q.No: 57 fAHfafad & ¥ "yl &1 waidr! Yse 1 3?2

A qas
B it
C qH
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D ERTER

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

AW HTH B UgdH Y T AT & T Id IR I fAwed &7 T Pifon-
&1 RN I Yol DI oS U1y TRA 81 - 1
ITD! T S g, fawRfed, forid wa e - 2
T e q@ gy AT Ygufd Rig R - 3

93 Ugd 8 Ba T P WR-UR - 4

IR # Ofd U 1G4t 331 Tl PR A - 5

I SR Yd TR B AMIAF R Y - 6
Riy T8 4R =nfe-A1g Hear o fRT Wur & - 7
TROT Gl <Al T80T i oY g S 7 - 8

w9 g@T a1 R H g aut § i fam # - 9
TferaeH Yyeg I o1 forad 2fed fas &1 - 10

Q.No: 58 fHfaRad & ¥ dead e F1 Ia Bifoe-

A B
B Y
C =

D RIC

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

fAET: By B UgdR IR 7T U & Je IR Sk a1 fAbed B 9 Pifo-
&1 MUt G Yo DI o U TRA 71 - 1
I A1 6l dagH, f[dsRfed, fadid a8 - 2
i fGaw @ uy Hima Jgufa Riy 5w - 3

o3 UGd R BE 3T S WR-ER - 4

IR ¥ O« U 16 i I3 Tl AR A - 5

31 R e UREY BT M IH S W - 6
e &g &R =fg-Afg Har of TR IR T - 7
TROT G ST T80T Bt o g S 7 - 8
TR d R AT e ffdfamm a1 - 9
e dysa I &1 ford wife fawrg &1 - 10

Q.No: 59 f=fafad # ¥ dre St v # 1 1 & fore v 3isg &1 997 Fifore-
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A foraesit
B forrardt
C firdear
D IR

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 60 = & § forgiRraw & arae! oI Fgdi & & g SIS B
A ST BT

B gfosd S

C SR AT

D 3TeireT Td aftsd S

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 61  Which one of the following is a prime numbers

2461618 fgiifad & § DH-U TP AU TET §

v
5 3
<
3

Correct Ans : C

Subject : Mathematics

24'10618%20 What should come in place of the question mark (?) in the following question?
VIS5 + 163 X 7= (?)2

Feraian 99§ gaares (o () % T W T 3T 9ter?
V155 F+ 163 X 7 = (?)2

6
A

6

5
B

5

4
C

4
D 8
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8

Correct Ans : A

Subject : Mathematics

Q.No: 63 Which one of the following has fractions in descending order?

2467123
o 3 3 e e et pa A 22
g8 9 4
9’11’7
A
g8 9 4
9711’7
48 9
7’9’11
B
48 9
7’9711
8 4 9
9’7’11
C
84 9
9’7’11
9 8 4
11’9’7
D
9 8 4
1179’7

Correct Ans : A

Subject : Mathematics

Q:No: 64 Find a number one-seventh of which exceeds its eleventh part by 100.
2467195

98 G- J1d IS T Th-Traal HITT 344 RS HIT H 100 ¥ 31w g1

1925
A

1925

1825
B

1825

1540
C

1540
D 1340
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1340

Correct Ans : A

Subject : Mathematics

Q.No: 65 The age of Rohit and Mohan are in the ratio 5 : 7 and sum of their age is 60 years. Find
2467284 Mohan's age.

Afgd 3R Fig DY MY BT UM 5 : 7 § 3R IAD! MY &1 41T 60 Y g1 Hig— B 31 F1d Hiforg|

25 years
A

25 9

35 years
B

35 ¢

10 years
c

10 99

85 years
D

85 af

Correct Ans : B

Subject : Mathematics

Q.No: 66  Ifx +y = 10, then what is the minimum value of x2 + y2?

2467791
Al x+y =10, T =2 + y2 BT GAdH HH 187
50
A
50
60
B
60
55
C
55
75
D
75

Correct Ans : A

Subject : Mathematics
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Q.No: 67 , 21
167937 The value of {(0.5)%is:

(0.5)2HTAMS:

0.25

0.25
0.24

0.24
0.36

0.36
0.23

0.23

Correct Ans : A

Subject : Mathematics

Q.No: 68 An isosceles trapezium has:

2468103
T grfgarg guaTE gl o g
Equal parallel sides
A
FHM GHAFIR Yod
Equal non parallel sides
B
UM TR FHFIR Yog
Equal opposite sides
c
M faudia yemg
All sides are equal
D

Tt YSY SRR
Correct Ans : B

Subject : Mathematics

Q.No: 69 The angles of a quadrilateral are in the ratio 6 : 9 : 5 : 4. The difference between smallest and
2468209 largest angle is:
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TS TJHS S DI BT SIAM 6 : 9 : 5 : 4§ Ho BIe 3R T S P10 & i P 3R &

35°
A

35°

60°
B

60°

45°
C

45°

15°
D

15°

Correct Ans : D

Subject : Mathematics

Q.No: 70 One side of a parallelogram is 10 m and the corresponding altitude is 7 m. The area of
2468217 he parallelogram is:

TH GARR TGS B TF Yol 10 Hiex § 3R WA S 7 Hiex §1 JHiR Igy FT &% d o:

70 square m

A

70 o &t

60 square m
B

60 &

80 square m
C

80 I Ht

90 square m
D

90 o1 {t

Correct Ans : A

Subject : Mathematics

Q.No: 71 Express 16000 as a product of powers of prime factors.
2468237

16000 P ST UHES] B °ldl &b UG P ¥ T T Ll

A 28x5

[

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 25/60
Page - 25



27x 53
B

27x 53

25 x 53
C

2% %53

28 x 53
D

28x 33

Correct Ans : B

Subject : Mathematics

Q.No: 72 Calculate the ratio of 72g to 0.36 kg.

72 9 ¥ 0.36 U1 67 U J1d HifoW|

2469717

2:5
A

2:5

1:5
B

1:5

7:3
C

7:3

8:5
D

8:5

Correct Ans : B

Subject : Mathematics

Q.No: 73 The degree of the polynomial 9a2+ 7b*—2a2 b*+4 — 5a* b3 is:

2469864

9gUG 9a° + 7b*— 222 b*+ 4 — 5a* b3 DI Ul §-

2
A

2

5
B

5
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7

Correct Ans : D

Subject : Mathematics

Q.No: 74 The one of the factor of the expression x2 — y2 + z2 + 2xz 15
2469925

D 12 — y2 + 22 + 2xz B U UGS o:

X-y-2z
A

X-y-2z

X+y-z
B

X+y-z

X-y+z
C

X-y+z

y+z-x
D

y+z-x

Correct Ans : C

Subject : Mathematics

Q.No: 75 Find a polynomial that is added to 5x2 + 6x + 9 to get 7x2 + 9x + 14.
2470012

Ueh dguG ATl hIToiT Foidl 5x2 + 6x + 9 # SISy WX 7x2 + 9x + 14 WIS GIAT B |

3x*+5x+3

A
3 +5x+3
3x2+2x+3

B
3x2+2x+5

c 2x2+3x+5
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3x2+3x+3

Correct Ans : C

Subject : Mathematics

Q.No: 76 To be good in Mathematics one needs to

2475408
TIora F 31T g & fi7g sl §
have mastery over calculations
A
oIS R BRI BT

create and formulate problem through abstract thinking and logical reasoning

B 3t T SR i db & AW ¥ FHWT ST 3R R AT

memorise formulae

B B ag B

remember solution
Y I1G T

Correct Ans : B

D

Subject : Mathematics

Q.No: 77 Micro-teaching is based on the assumption

2475514
e &7 39 YR WR 2Meid §
Complexities of education can be reduced
A g 9 wreriaN 3 v e o1 W &
Teaching skills can be developed
° o e e e o1 e &
It is an individualized training programme
¢ Tg TP AT TR0 PTHH §
D All of the given option
faq gt faped

Correct Ans : D

Subject : Mathematics

Q.No: 78 Impartial behavior quality of teacher comes under:

2475541
Riefer & fsaef FagR 3 oG & Sfarfa i g
professional quality

A mm

B social quality
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o ORI

knowledge skill

C
I BRI

D administrative quality
ERICIECRICE]

Correct Ans : B

Subject : Mathematics

Q.No: 79 Which is the main remedial teaching strategy?
2475914
1. Tutorial

2. Supervised

BT FUARIS fRI&01 Ui DI Al g2
1. o
2. T

Only 1 is correct

A ¥aa 1 9 2

Only 2 is correct
FPaT 2 T
Both 1 and 2 is correct

1 3R 2 A T@ R

Neither 1 not 2

6 a1 eiRAE 2
Correct Ans : C

Subject : Mathematics

Q.No: 80 Given interchanges: signs + and X, and numbers 16 and 8; then the value of 8 x 16 + 2 is

2481063
fou U geS (MUY | SeT): g + 3R x, IR IBI 16 3R 8; A8 x 16 + 2 HIAM G
4
A
4
8
B
8
12
C
12
16
D
16

Correct Ans : A

Subject : Mathematics
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Q.No: 81
2481862 What is the value of -\/\/1296 + 420257

V1296 + /2025 F AT FT 87

D

HE O O W W N N

0
(1]
Correct Ans : C

Subject : Mathematics

Q.No: 82 IfA=200mm, B =0.02m, C=20cm and D = 20 dm, then value of which of the following is
2481864 |argest?

afe A = 200 finft, B = 0.02 W, ¢ = 20 I 3R D = 20 34, G g F ¥ frawr AF TaQ T 1 gANT?

A*B+C
A A*B+C

D*C+B
B

D*C+B

B+D*A
C

B+-D*A
D A=+C*D

A=-C*D

Correct Ans : B

Subject : Mathematics

Q.No: 83 ' Students are passive in

2481934
BH v # e §
Project method
A o R
Discovery method
\ A R
Lecture method
¢ T fafy
D Inquiry method

ggare fafd
Correct Ans : C

Subject : Mathematics

Q.No: 84 which of the following is not a remedial method of teaching physical science?
2482386

FaffEd # 9 &1 1ifde 99 ugr &t Suar@s Al 51 82
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D

Class teaching

P&l fRigror

Group tutorial teaching

g cgeiiad R

Supervised tutorial teaching
wfafea egdivaa Rigor

None of the given options

fou ¢ Reedi | A 1S 78

Correct Ans : D

Subject : Mathematics

Q.No: 85
2482433

D

Which trait is developed through study of mathematics.
T & SHedT § PHIF-71 0T 3B giar 82

Jealousy

<o g

Selfishness

wrRfoRar

Patience

Ego
SHgPR

Correct Ans : C

Subject : Mathematics

Q.No: 86
2482554

D

Value that divides the data into two equal parts is

3T B Y WER HE A fHIR &= aren 79 8

Mean
HIEH

Median

Mode

SgdP

None of the given options

fiu U e # § B8 T

Correct Ans : B

Subject : Mathematics

Q.No: 87
2482586

D

Which of the following is cure and remedy of teaching poor student?

9 o § & e BF & tgH &I UfdHR IR IUA g2
Humiliate him/her in front of class

BT & YA I ATHIAT BT

Give him more homework

39 R e §

Take regular tests
it s w1l

Category wise remedial teaching not more than 5 to 10 students
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JufigR IR R0 5 ¥ 10 TE1 § 1 T
Correct Ans : D

Subject : Mathematics

Q.No: 88 Which of the following is not an aim of teaching mathematics?

2482609
fafifad # @ S [ ugr @1 Sea T 82
Disciplinary aim
A
SIS Sexd
Cultural aim
B
TRFplad I5=9
Utilitarian Aim
C
STIREE 3=
D Psycological aim

Correct Ans : D

Subject : Mathematics

Q.No: 89  The most useful teaching aid in Mathematics is

2482757
IO 7 He IuAT R werar &
Visual aid
A
=Y ggrdl
Audio aid
B
it g
Audio visual aid
C
Y- FeIAdl
D None of the given options
faw e fowetl & ¥ o8 TR

Correct Ans : C

Subject : Mathematics

Q.No: 90 Which of the following is the disadvantage of Roman Numeral System?
2482800

A. We cannot write fractions using roman numerals.

B. It has no symbol to represent zero.

C. It is very difficult to write big numbers in roman numeral system.

frafafed & 9 0 S omTel BT SR /T 72

A. T T 3T BT TR X P et forg wopal §

B. 39 Y & WM & g 31 wdie T 2

C. T 3% Tl B 981 Jemaii FI g 9gd Hied §

Only Aand C
A FIAA IR C

OnlyBand C
° Faa B R €
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C OnlyAandC
FaaA R C

AllA, Band C
A, B 3R ¢ ot

Correct Ans : D

D

Subject : Mathematics

Q.No: 91 The Forest Conservation Act was amended in year:
2469446

a1 TReur Afgw &1 IReA T o fasar mar ur?

1989
A

1989

1986
B

1986

1988
Cc

1988

1984
D

1984

Correct Ans : C

Subject : Environmental Study

Q.No: 92 The interaction of agriculture and trees, including the agricultural use of trees is called:

2469481
geff & BN ITANT A B 3R gaff BT RIR e wgand 3:
Agroforestry
A
CarCIECH)
Social forestry
B
TN aiHet
Forest management
c
T UGy
Forest conservation
D

I TR&IUT
Correct Ans : A

Subject : Environmental Study
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Q.No: 93 Which of the following is the main positive effect of urbanization?
2469484

Fafafad # & $F I8 &1 I8 THRISS UH 32

Transport facility

A
Ufag faen
Industrialization
B
Sfriteor
Healthcare facilities
c
R T b1 Ffaer
Employment
D

AR

Correct Ans : D

Subject : Environmental Study

Q.No: 94 Ethylene di-chloride is a type of poison-

2469741
TR SRRiIRES UH UHR I Ay 3-
Stomach poison
A
et fay
Contact poison
B
U T faw
Biological poison
C
Sifdw faw
Smoke
D
UL

Correct Ans : D

Subject : Environmental Study

Q.No: 95 In which year ‘Water Act’ implemented in India?
2469774

S e YRd ¥ 5w I @ g
A March 1974
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o 1974 §

March 1975
B

o 1975 §

April 1974
C

i 1974

April 1975
D

30 1975

Correct Ans : A

Subject : Environmental Study

Q.No: 96 Which color of bins is used for non-biodegradable waste?

2471991
3oig FMHieRUig HeR P A (6 31 & (Sod BT IuTNT a1 Sl 82
green bins
A
[GaEE]
Blue bins
B
RISASC]
Yellow bins
C
LISAEE
Red bins
D
CIGASC

Correct Ans : B

Subject : Environmental Study

Q.No: 97 BOD value of clean water is-

2472046
=TT BT Siefst | Bi-
Less than 5 ppm
A
5 didieq @ &1
17 ppm
B
17 didiwd
C 10 ppm
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10 difiq
15 ppm

15 didiug

Correct Ans : A

Subject : Environmental Study

Q.No: 98 Water which is free from chemical and biological impurities is known as?

2472089
STl S A SR Sifde eIl § g g 3, Pead 82
Distilled water
A
S SieT
Potable water
B
Y g gt
Wholesome water
C
i
Black water
D

T gt

Correct Ans : A

Subject : Environmental Study

Q.No: 99 Which process of landscaping reduces the need for irrigation and is gaining acceptance in many
2472262 regions as access to irrigation water is becoming limited

[HI0T BT DI T Ufhar RiATS B SIagehdl B HH B! ¢ IR $s &= # Wipld U B Il & Hife R
% Ul @t ugd i gt o <8 @

Raised bed gardening

A
IoHT IR IRTar
Xeriscaping
B
Qg fRT
gardening
C
CIUCIEil
D water sorption
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W ARa

Correct Ans : B

Subject : Environmental Study

Q.No: 100 ‘Gir Sanctuary’ is located in which state?

2472433
iR snER g I 7 fd §2
Rajasthan
A
RSIIE]
Madhya Pradesh
B
A W™
west Bengal
c
LECEUIC]
Gujarat
D
ToRTd

Correct Ans : D

Subject : Environmental Study

Q.No: 101 Where does the photosynthesis take place in eukaryotes?

2472469
TH ey H UHTRI YTl Sl gidl 82
Mitochondria
A
GIECEASE]
Cytoplasm
B
RIEEEI
Chloroplasts
Cc
RIS
Vacuoles
D
[NESEAL

Correct Ans : C

Subject : Environmental Study
Q.No: 102 Which is the example of sessile animal among following?
2473002
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9§ I U 2d S &1 I ]2

Chiton
A

HIge

Leech
B

SiE|

Echinus
c

EEL

Euplectlla
D

PURES|

Correct Ans : D

Subject : Environmental Study

Q.No: 103 In which year did the UN declaration for peaceful uses of outer Space come into force?
2473916

aTel Sidel % ifaquf Iudi & fY Wge g &1 Hion &y 9y arg gg?

1961
A

1961

1967
B

1967

1973
C

1973

1978
D

1978

Correct Ans : B

Subject : Environmental Study

Q.No: 104 Which of the following was ISRO’s first indigenous, experimental communication satellite?
2473930

Fofafa § @ o9 IR &1 ugar Wexh, TS IR ITE UT?

AstroSat
A
TEIe (ASTROSAT)
B APPLE
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 38/60

Page - 38



TWS (APPLE)

ANUSAT
C
38¢ (ANUSAT)
ASLV-D
D

T.0Y.Uq.41.-811 (ASLV-D1)
Correct Ans : B

Subject : Environmental Study

Q.No: 105 Which of the following polymers is lighter than plastic and stronger than steel?
2474065

AR § 4 &F A1 950 WIReH U gedl 3R EId ¥ Holgd o2

2DPA-1
A

2DPA-1

3DSQ
B

3DSQ

WRS 1
C

WRS 1

123SRD
D

123SRD

Correct Ans : A

Subject : Environmental Study

Q.No: 106 Which is a surface to air missile?

2474122
SHIF 9 591 | UR - 91 Psd S g7
Trishul
A
Prithvi
B
Agni
C
3
D Dhanush
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gy
Correct Ans : A

Subject : Environmental Study

Q.No: 107 Ground water is used for which of the following activities the most?

2475731
Yod 1 IuanT Fafied & @ g el & R awd eifte fvan S 82
Washing
A
YaTs
Drinking
B
LiE]
Agriculture
c
P
Industries
D
LW

Correct Ans : C

Subject : Environmental Study

Q.No: 108 Which of the following is not a festival associated with harvest season?
2475865

fafied # ¥ o9 w9a & T 9 I3T R T8 822

Diwali
A

fearett

Holi
B

gt

Rakhi
C

Tt

Pongal
D

g

Correct Ans : C

Subject : Environmental Study

Q.No: 109 Who is known as ‘Father of White Revolution in India’?
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2475940
"YRA # A Hifd F 998’ $ TU § 759 ST S 82

Dr. Verghese Kurien

A
o aiffet piaw
Dr. Sushovon Banerjee
B
= e s
Dr. Leela Joshi
C
ST ot sirsit
Dr. Manjula Anagani
D

i Hoam SR
Correct Ans : A

Subject : Environmental Study

Q.No: 110 Where is the Akhil Bharatiya Kalidasa Samaroh organised?
2476538

ST URTT PIEN ARG Hol ST T Sl 62

Kolkata
A

DDl

Bhopal
B

Hiurer

Hyderabad
C

G

Ujjain
D

I

Correct Ans : D

Subject : Environmental Study

Q.No: 111 Which term refers to the situation when both players reach the score of 10 points in table-tennis?
2476571

DI A e I U BI Yehtfa a1 ¢ 99 qHl Raars caa-¢i-a § 10 3% & WR dP Ugd olld 67

Deuce

oS

B Love
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Draw
c

EL

Game point
D

A4 Uige
Correct Ans : A

Subject : Environmental Study

Q.No: 112 1In which year was the first paper factory established in Raniganj?
2476618

IS T U BT BREH B RGN fbd ay g3 A

1887
A

1887

1891
B

1891

1894
Cc

1894

1918
D

1918

Correct Ans : C

Subject : Environmental Study

Q.No: 113 As a facilitator in effective group discussion, one should manage both:
2477304

quid gk ==l & U6 GAYR & T H b Q1 DI Yafd Ha1 =feu?

Communication and Grades

A
R R IS
Process and Content
B
uferar SR vy - 9%
Process and Consent
C
Tfhar SR FEHk
D Progress and Grades
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T SR I8

Correct Ans : B

Subject : Environmental Study

Q.No: 114 How many themes are there in the syllabus of EVS?

2477366
TafaR0T Siee % UreasmH H fhan fawa €2
4
A
4
5
B
5
6
c
6
7
D
7

Correct Ans : C

Subject : Environmental Study

Q.No: 115 Students learn better by:

2477374
B fPad dgR Iad &2
Newspaper cuttings
A
SEIRT B BT
Diagram making
B
3R ST
Peer discussions
C
Tl Tt
Depends, as different children have different preference for learning styles
D

R o 8, TP SreT-3rerT =i @1 AR 3 A F R sremr-arenT Traitrears aid §

Correct Ans : D

Subject : Environmental Study

Q.No: 116 Which television channels can be used as media resources in EVS?
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2477406 1.Planet earth
2.The Discovery channel

Choose the correct code.

TafaRur sfereH # Hifsar danel & wu § 7 Sefifas el &1 Iudi fhar o wbar 82
1. wHe 3

2. fewpadl 9

gl HIs g1

Only 1

Faa 1
Only 2

Fad 2

Both 1 and 2

a1 @R 2

Neither 1 nor 2

dd1eRTH2

Correct Ans : C

Subject : Environmental Study

Q.No: 117 The finest Indian teak is found in which forest?
2477810

gafow 5w o YRdw A (Irie) &g Sa & orn s 22

Sunderban Forest

A
YrET o
Kanha Forest
B
DIgl -1
Satpura Forest
Cc
qdagsT aq
Gir Forest
D
iR &

Correct Ans : C

Subject : Environmental Study

Whirh ic fha mack nannlarad airkhan Ak in Fha aiarlA2
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VVIIICLL 1D UIT 11IUDL puUpuUIatcu utvaill CiLy 1 Lic wuliu:

Q.No: 118
2477952

Oy o1 go S SRIT Il TR S 1 872

New York
A
el
Delhi
B
feeeit
Mumbai
C
i
Tokyo
D
TR

Correct Ans : D

Subject : Environmental Study

Q.No: 119 In the author gives a firsthand account of the incident or event that took place or shares the story
2478566  from his/her point of view.

T OGS I gel & U [Aar0r &1 § S 9fed g3 € 1 Bkl &l S0 SPHI0 I ATl FHral

gl
Narrative text

A
faeRumeTs o (RfeT Txe)
Expository text

B
TS G (TTHIRIES) )
Technical text

C
TPID! OF (P eae)
Persuasive text

D

IRF TG (TR eTxe)
Correct Ans : A

Subject : Environmental Study

Q.No: 120 How many 'Big Principles’ of Assessment FOR Learning have been identified by UK Assessment
2478686 Roform Group (1999)?

& ey ReIH Ju (1999) gRT ST 3 SideH & fbaa 'S ol &1 ugdH &t 15 g2
A 3

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 45/60
Page - 45



4
B

4

5
Cc

5

6
D

6

Correct Ans : C

Subject : Environmental Study

Q.No: 121 Emotions in children are -

2473623
D] H AT B B -
Absent
A
FurRYd
Permanent
B
g
Balanced
C
Hgfera
Imbalanced
D

Correct Ans : D

Subject : Child Developement

Q-No: 122 When we speak of gender division, we usually refer to ?
2473782

T fauTeM &t a1d R § A AR R 3THT I el § -~

Biological difference between men and women

A
T ud Afgenelt & it wfa® SR
Unequal roles assigned by the society to men and women
B
T SR wftael & W R Wi S SR Y
C Unequal child sex ratio
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3 H 1 femgura

Absence of voting right for women in democracies

Wi § Afgensh & R Aaar o1 SER 7 g

Correct Ans : B

Subject : Child Developement

Q.No: 123 Which learning structure suits to extrinsic techniques of motivation?

2474393
PH- RI&01 T, IROT ST T TP-D! B I gl 87
signal learning
A
Hevel Rrefor
chain learning
B
s fRiemor
all of the given options
Cc
fe 7 Tt Rwed
group learning
D

g Reor
Correct Ans : C

Subject : Child Developement

Q.No: 124 The ideal teacher-

2474427
e fed |
Teaches the whole curriculum
A
Qo UTeHH UgTl &
Helps his students in learning
B
37 B! B We # Hag TRl §
Is a friend, philosopher and guide
Cc
T o, e oIk anfexie g &
Maintains good discipline
D

ST SRR 1Y 3Gl §

Correct Ans : C
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Subject : Child Developement

Q.No: 125 The question given below has an Assertion (A) and a Reason (R).
2475451

Assertions (A): Parents and teacher often misjudge the behavior of child with impaired hearing.

Reason (R): Although, the value to them of this mechanical aid is being recognized by
adolescence and adults.

= fou T4 uy T T FUF (A)SIR FRU HRU (R) f&ar B

HAHYT (A): YTUT Y Y IR = P 3RO DI SRR AI-T0a1 Tad TH 61
PRUI (R): gdifP I79% T AfFFwd Us &1 Hea 31 § 39 PR SR Juvs! & gRI 9Hg T gl

Both A and R are true and R is the correct explanation of A

#
A 3R R FI T8 ® 3R R A $1 TE) Sre a1 @

A is true, but R is not the correct explanation of A

A TE ? AP R A B & oare T BRal @

A is true, but R is false

AT g AfPTR T

A is false but R is true

AT AT R EH ®

Correct Ans : B

Subject : Child Developement

Q-No: 126 Child experiencing difficulty in interacting with peers or problems with expressing their wishes and
2475480 eeds at other can be labeled as:

3T I & Y S B T HSTS BT U HIA aId g a7 (T F13iT 3R STl 1 e Hed |
IR & =9 § A9d Hioar ol Jhdl g

Internalizing problems

A
ST g
externalizing problem

B
e T B G
External growth

C
CISEEaT]
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D normal growth

T fae™

Correct Ans : A

Subject : Child Developement

Q.No: 127 Before Piaget, people were more likely to believe that:
2476157

oS ¥ ugd, Al § 39 910 & JFA B Af¥E JUaAT o fF:

The child’s mind is a miniature model of the adult’s

A
= 31w Tl fewmT &1 0o @Y Hisd g §
Children think about the world in radically different ways from adults
B
w2 P F R & U B goT A e o a0 § O ¥
The child’s mind develops through a series of stages
C
T 1 fermT % TRl & R giar g
Children interpret their experiences in terms of their current understandings
D

T ST ST BT IURST ST T TH & SR A §

Correct Ans : A

Subject : Child Developement

Q.No: 128 Changes in personalities, whether in trades or in self-concept are more likely and frequent in

2476193
i § IEAd 918 98 AR & & § 8 91 W-SaURIT & AT &, T 3R .o, =R
younger children
A
B T
older children
B
I3 ¥
adolescent
C
feiR s
adults
D
qq%n

Correct Ans : B

Subject : Child Developement
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Q.No: 129 Which one of the theories based on habit formation says that humans or any creatures give
2476351 response due to stimulus or humans learn due to stimulus?

AEd T W SUIRT HH-A AR Hedl § o5 7T a1 His Yot IASHT F HRUT Uifehan ot @ a1 AT SorT

P HRU YRaa 87

Classical conditioning

FARID BRI

Operant conditioning

ST

Generalisation

BRI

Adaptation

Correct Ans : A

Subject : Child Developement

Q.No: 130 Antigen is the

2476736

Tior §

that substance that the germs carry
A

9% Uerd S Y & 9§

protein substance that the germs carry
B

T var St My o S §

substance produced by the human body
C

AT TR GRT Iafed verd

protective covering of cells
D

DIRBIS BT YRATHD HTAR0]
Correct Ans : B

Subject : Child Developement

Q.No: 131 The aspects of development that influences behavior directly or indirectly is
2477099

fAHrT & VY Ugq, S U 1 S T I FdgR B UHIAd Hd §
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A Motor development

[ERICEICEaL]

Emotional development
B

HIGTTHS far

Physical development
Cc

RUNREACEAT]

Cognitive development
D

IS fapr™
Correct Ans : C

Subject : Child Developement

Q.No: 132 The period that extends from 8 weeks of conception until birth is

2477102
THiTRI & 8 ITE W SH b B 3fafe
Germinal period
A
ST DI
Embryonic period
B
YOI hld
Fetal period
c
Ry o srawar
None of the given options
D

feu T fawedt & ¥ B T
Correct Ans : B

Subject : Child Developement

Q.No: 133 Depression and somatoform disorder is classified into which type of disorder?
2477634

3fadTE IR AHCTHIH [AHR $I {58 JHR & faeR & arffed foar @ g2

Neuro development disorder

A
GIEE2RECARACEA
Social disorder
B
I fapR
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C Emotional disorder

YT fapR

Behaviour disorder

FIER fddR

Correct Ans : C

Subject : Child Developement

Q-No: 134 wWhich of the Bronfenbrenner’s Ecological System describes changes or transitions that happen over
2478938 the course of one’s lifetime?

BRI UiRfUfaw Yol § J &9 I1 URad a1 GhHUl BT qui- HdT g Sl fbdl P Siigerd § gidl 87

Macrosystem
A

ApiRren

Mesosystem
B

ARREH

Exosystem
C

TRREeH

Chronosystem
D

PHIREH

Correct Ans : D

Subject : Child Developement

Q.No: 135 School provides both formal and informal contexts to the student. Under the informal context, the
2479028 gntent of socialization is determined by which of the following?

o BE Bl SNuRe R FERe < Ye uer FRar g1 sFiuEiRe e #, gusia)or ot aneht
fafafea & § frae gr1 Feuiia $1 ot g2

Curriculum

A
T
Teaching-Learning Process
B
Rieror-diem a1 ufsan
Grades
C
IS
D Peers
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SR
Correct Ans : D

Subject : Child Developement

Q.No: 136 According to Piaget object permanence is also known as

2479177
oS & R 9% WIRa &1 fow T § +f S S B
Out of Sight
A
B
Out of Mind
B
Y & TR
Both Out of Sight and Out of Mind
Cc
3T e & e SR famm @ wmeR
Neither Out of Sight nor Out of Mind
D

TA W I TR MRAF T I TR

Correct Ans : C

Subject : Child Developement

Q.No: 137 In which of the following moral stage people believe that morality is legal?

2479291
fofeRed & § e foe =R § @ 7a § % e s 82
Legal Orientation
A
B IS
Legal Position
B
HE R
Legal Induction
C
B IR0
Legal Age
D
B Y

Correct Ans : A

Subject : Child Developement

Q.No: 138 At a later stage, Gardner added how many new abilities to his theory of Multiple Intelligence?
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2479754
e & WO H, MSR A Jeeud sefeiy & omm Rigia § forat 73 draard siei?

1
A

1

2
B

2

3
C

3

4
D

4

Correct Ans : B

Subject : Child Developement

Q.No: 139 Sympathetic and parasympathetic systems function together in a manner.
2479989
gl IR REFH A o % F FRf X 7
Reciprocal
A
TRERS
Inverse
B
faordtar gt
Direct
c
@Y
Indirect
D
SYe

Correct Ans : A

Subject : Child Developement

Q.No: 140 When motivation is based on rewards such as money, pay and grades, it is known as which of the
2480058 following?

9 FERT 9, 999 SR I8 Y ufawal W seid gl 3, df 39 Fufaiea & § feus =g & ST ofrar 82

Intrinsic motivation

S SRR
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B Extrinsic motivation

e-SiHIRT
Primary need
c
WA SHTaRgedl
Growth need
D

fawra & sngzawar

Correct Ans : B

Subject : Child Developement

Q.No: 141 Primary needs are usually acquired by which of the following?
2480060

e awEdit g Fafifad § 9 feae grT U o1 widt 87

Social motives

A
IS SRS
Biological motives
B
S SifiRe
Social interactions
c
oIS 3 fohar
Innate needs
D

WIS Saaemd
Correct Ans : B

Subject : Child Developement

Q.No: 142 According to Ruch, under which stage does the various organs of the body start getting their
2480156 shapes developed?

¥ P YR, IRR & Al offff T SR forw sraw ¥ faafa g9 avrar g2

neonate stage

A
EEEIGRE R
embryonic stage
B
HUT S{qRIT
C pre-natal stage
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ERCECRECE))

germinal stage

3T TIT
Correct Ans : B

Subject : Child Developement

Q.No: 143 Abhay's teacher noticed that he was able to understand and then explain the metaphors in
2480201 Shakespeare's sonnets to the entire class. This indicated to the teacher that Abhay had
intelligence.

3 & R J T fo a8 U el &1 VAR & WA § wuS! & gagH IR R auem & F&m o1l 399
Red dldpdfeamfe s@day. ga il

Musical

it

Logical-mathematical

e TR

Linguistic

LI IE)

Spatial

RJIIECa

Correct Ans : C

Subject : Child Developement

Q.No: 144 A type of progressive education that is child-centred and based on scientific observation of the
2480327 (hildren with the teacher acting only as a facilitator?

U UHR P Wifaefa Riem st a-Hied it § ofk 9= & afe saee W smenfid gt §
o Rierd Haa U YR & T F S el g

Montessori
A
Hiegd
Constructivist
B
LCRIEIGH
Humanistic
C
B IECGICH |
D Modern
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YA
Correct Ans : A

Subject : Child Developement

Q.No: 145 A teacher wants to help children become better problem solvers. Which of the following is the best
2480340 way that the teacher could use to promote problem-solving among students?

(I)Demonstrating how to solve difficult problems
(I1)Allowing students to solve problems by referring to the examples in textbook

(III)Encouraging students to solve different types of problems

S R BE & S8R YT GHHFEA! &1 | Hag H1 grgdl o | Fufafe 7 § 3 o190 96 ot fafy
2, o Iudiv Riee 36T & d THR-gHIy & 9¢1dT &1 & T oR Iohdl 8?2

(1) ©FH! & T8 IaHT & Bid" g & 59 UsR ga fear Siar g
(I1) UIIYEas H fT T IerRRull & Tcrf Ao SF & THwsh o gd S & sufd &1
(111) B I e UpR & gasll & g6 @4 & fou diefed w1

Only I
A

Faq I

Only II
B

Fad 11

Only III
C

Pad 11T

Either (I) or (II)
D

I ey (I) 91 (1II)
Correct Ans : C

Subject : Child Developement

Q.No: 146 The disability, speech impairment is associated with

2480618
Intellectual deviance
A
Hfee foaem
Sensory deviance
B
REEACERE]
C Auditory deviance
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yquT fogeq

Motor deviance

ez fa=e

Correct Ans : D

Subject : Child Developement

Q.No: 147 Children begin to think logically about objects and event. According to Piaget this characteristic is

2480664 re|ated to which stage of cognitive development?

T qMfdh® FU F TGl SR g1 & IR T a1 L& I o | I & AR, I8 faivar SHes der &

g oRo1 § Teifda g2
Sensorimotor stage
A
Hadt U erant
Pre-operational stage
B
Td AT e
Concrete-operational stage
C
Tl fepar s
Formal operational stage
D

=i fshar sawa
Correct Ans : C

Subject : Child Developement

Q.No: 148 Which statement is true regarding Gifted children?

2480742
e s=di & Wef § & o1 Sy 9 82
They are divergent thinkers
A
3 3o foaR® §
They are convergent thinkers
B
3 S faaR® §
They are extroverts
c
q sfeddt ¢
They are lazy
D

q oyt §
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Correct Ans : A

Subject : Child Developement

Q.No: 149 A child has been admitted to your school who belongs to a back ward family/background form
2480764 the cultural viewpoint. You will.

UH §& ST AU Tpd H Ul ST T[T § o Fiplas epHi 3 Uss uRary geyfll § 96fia g, em....|

advise the child to take vocational education.

A
I S Ripy o & e gars &
keep the child in a the class and by keeping his special needs will make special
arrangements for teaching him,
B
I TH IR T H TG, AT I R e 37 & R iy e w¥
try know more about the backward cultural background of the child
c
¥ & s wigplas ggyfl & IR # sifte o & g ue Riers &) a6
keep the child in that class where, there are many student of backward background.
D

I T W 7 § &7 el wipfae B A e ggui & oF o 8

Correct Ans : B

Subject : Child Developement

Q.No: 150 Automatic physical movements of a new born in response to a particular event or stimulus is
2482212 termed as:

ot ge a1 IEiA fa=iy @t srfebar & Taund R & 11 are Wanad IRING daa- o Hel o g

Reflexes

Ufeas /ufeadf feeang

Retention

AR

Retardation

e

Recovery

O Ty
Correct Ans : A

Subject : Child Developement
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